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[0 O 0O 1. The fact that[] does not necessarily imply that] 2.
Factors such as[] all have some bearing onl] 3. Economy, as we
know, is influenced by the combination of a host of factors, local,
national and international, political, social, and technological. 4. But
we are told nothing about the way the poll was conducted and how
well it representedl] 5. But the problem is that the two situations are
not similar enough to justify the analogical deduction. 6. According
tol] , but there is no evidence whatsoever to showld 7. The
argument provides no direct information as to the degree to which[
8. There is no evidence whatsoever to indicate that[] 9. But any
conclusion at this stage is premature in absence of a comprehensive
examination of] 10. For a couple of reasons, this argument is not
veryconvincing. 100Test J O 0 OO0 U000 O0doodon
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